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Chapitre 11 : Trigonométrie

Série A Série B

Exercice 1.

sin(α) =
8

17
sin(α) =

√
11

6

cos(α) =
15

17
cos(α) =

5

6

tan(α) =
8

15
tan(α) =

√
11

5

α ∼= 28, 1̊ α ∼= 33, 6̊

Exercice 2.

a) β = 55̊ α = 18̊

AB ∼= 6, 10 cm AB ∼= 6, 5 cm

BC ∼= 3, 50 cm BC ∼= 2, 0 cm

σ ∼= 8, 75 cm2 σ ∼= 6, 2 cm2

b) β = 48̊ α = 52̊

AB ∼= 5, 98m AB ∼= 6, 7m

AC ∼= 4, 44m AC ∼= 4, 1m

σ ∼= 8, 88m2 σ ∼= 11, 0m2

c) β = 27̊ α = 41̊

AC ∼= 1, 362 km AC ∼= 3, 170 km

BC ∼= 2, 673 km BC ∼= 2, 755 km

σ ∼= 1, 820 km2 σ ∼= 4, 367 km2
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Exercice 3.

a) D̂FE = 67̊ M̂NO ∼= 34, 3̊

DE ∼= 7, 54m ÔMN ∼= 55, 7̊

DF ∼= 8, 19m MN ∼= 266, 27m

σ ∼= 12, 062m2 σ = 16′500m2

b) ÎGH = 43̊ P̂QR ∼= 28, 7̊

IG ∼= 3, 072 km R̂PQ ∼= 61, 3̊

IH ∼= 2, 864 km QR ∼= 2, 193 km

σ ∼= 4, 399 km2 σ ∼= 1, 316 km2

c) ĴKL = 28̊ ŜTU ∼= 31, 0̊

JK ∼= 4′325, 67m T̂US ∼= 59, 0̊

KL ∼= 4′899, 13m SU = 3m

σ ∼= 4′974′521, 5m2 TU =
√
34 ∼= 5, 831m

Exercice 4.

β = γ = 75̊ ÊDF = 80̊

AB = AC ∼= 7, 73 cm D̂FE = 50̊

σ ∼= 14, 93 cm2 EF ∼= 5, 14m

DF = 4m

σ ∼= 7, 88m2
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